C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 86+2= 2) 56+6=
- 1.
2.
3.
3 60:2= 4) 31+3= 4
5.
6.
7.
5 56+2= 6) 33+4=
8.
9.
10.
7) 98+2 = o 8 21+5= "
12.
9 90:2= 10) 61+7 =
11) 40+2= 12) 58+2 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name. Answer Key
Solve each problem. Answers
1) 86+2= 43 2) 56+6= 912 . 43
2 9r2
3. 30
3 60+2=_ 30 4 31+3= 10r1 a 10r1
5 28
6. 8rl
7 49
5 56+2= 28 6) 33:4= 8rl
8 4rl
9 45
10, 8r5
7) 98:2= 49 8) 21+5= 4rl " 20
12 29
9 90+2=_ 45 10) 61+7=_ 815
11) 40=2= 20 12) 58+2= 29
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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